2.1 Introduction to Exponents
Math 9 Introduction to Exponents
Is there a simplified way to write each expression?
3+3+34+3+3+3+3+3+3+3= %x|D
(=8)+ (=5) + (=5) + (=5) + (=5) + (=5) + (-=5) = (-5) *]

Mu H'I'DhC ah'on is a simplified way to write repeated addition.

Is it possible to write repeated multiplication in a simpler way?

3x3x3x3x3x3x3x3x3x3= 2'°

(=5) X (=5) X (=5) X (=5) X (=5) x (=5) x (=5) = (- 5)"

Using ex\?or\en}s repeated multiplication can be written in a simpler way.

/ exponent
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Examples:

Write each expression in exponential form. Then evaluate the power.

2x2><2x2x2=2_5 4X4X4= L|3

3
3 x (-3 x(=3) = (~3) 3 x (3 x (=3)x (-3) = (-3)

— When evaluating a power with a negative base and an even exponent, the result is pos! H\Ie
— )

— When evaluating a power with a negative base and an odd exponent, the result is negq h’![g .



Evaluate each power. “ "

r“squareé)* ¢ Cubed
2= p 2°=Q 3% = 243 3= 8l
+Area +Y4 Volume| |

)
Write each expression in expanded form. Then evaluate.

(-2)* = (-2)XC2)* 22D = b —2¢= —2%2%2x2 = -lb
47 = (W) XCHx(EH) = - 64 —(=5)° = = (-SIXCE)X(-SI-5)*(5) x(-5)
= - 15625

The exponent is applied to the base. If the negative value is in brackets, the base is a negative number. If
there are no brackets, the base is positive.

How are (—5)? and —52 different?
The bases are different.
(-5)* =(-3)x(-5) =25
-5 = -5%X5 =-25

Practise: p.97 #5, 7, 11, 13, 14, 17, 21



